CZ - Tazné zatizeni / SK - Tainé zariadenie / GB - Towbars / PL - Haki holownicze
DE - Anhadngevorrichtungen / FR - Attelages / SPA - Ganchos / HUN — Vonohorgok
RUS/FIN/LIT - ®apkonbl / RO - Carlig de remorcare

TYP VTZ001-503 VTZ002-503 VTZ003-503

SVC GROUP. s.r.o
Prlimyslové zona 179
54701 Nachod

Toyota C-HR 10/2016 ->

Iy's
? é bl . E=5 < Vyfeznenividét
Bl =
! ) __7__:—% § h /Q Vyfez v vodorovné ¢asti pod vozem

®. /8.8 ) B )

Pro podrobné montazni instrukce a podminky vyrobku si naskenujte QR kéd
Pre podrobné montdzne pokyny a podmienky produktu si mdZete skenovat QR kéd
For detailed installation instructions and product conditions, scan the QR code
Scannen Sie den QR-Code, um detaillierte Installationsanweisungen und Produktbedingungen zu erhalten
Pour des instructions d'installation détaillées et les conditions du produit, scannez le code QR
Per istruzioni di installazione dettagliate e condizioni del prodotto, eseguire la scansione del codice QR
Aby uzyskac szczegétowe instrukcje dotyczace instalacji i warunki produktu, zeskanuj kod QR
Para obtener instrucciones detalladas de instalacion y condiciones del producto, escanee el cédigo QR
\ Voor gedetailleerde installatie-instructies en productvoorwaarden, scan de QR-code
SCAN ME Tarkemmat asennusohjeet ja tuotteen ehdot on tarkistettava QR-koodilla
A részletes telepitési utasitdsok és a termék feltételei kozott olvassa el a QR kédot
Za podrobna navodila za namestitev in pogoje izdelka skenirajte kodo QR
MNoapo6Hble MHCTPYKLMY MO YCTAaHOBKE U YCNIOBMAM NPOAYKTa oTcKaHupyiite QR-Koa. SVC GROUP @-11/19

e-mail: sve@svegroup.cz Tel.+420 491421021 +420 491421022 mob.: +420 603360607




Z 10/2016 ->

Toyota C-HR

W 206014\
$%8 v1z001-503 (166 ) B ssesz0r  CECA 1650/90 D 8,77 N\

% VTZ002-503 | 17,2 @ V-503-2021 @ 55R01-0 491 \
@ VTZ003-503 | 18,8 @ AV-503-2021

M12x40 G10.9 2ks

M12x40 G10.9 2ks

212 4ks

g M12x40 G10.9 4ks

0

% DlOUhé B X1 ‘ @12 4ks

Kratké
Tel.:+420 491421021

SVC GROUP O
SVC GROUP s.r.0. Prumyslovazéna-179 www.svcgroup.cz A
HQﬁ 547 01 Nachod-CR e-mail: sve@svegroup.cz mob.: +420 683360607
SVC GROUP ©- 05/19

QR kédem si stdhnete si rozsifeny montdzni ndvod / With QR code you can download the extended assembly instructions



&2 VTZ001-503

£ vTZ002-503

Toyota C-HR

10/2016 ->

92 1650 D=

@ VTZ003-503

M12x40

G10.9 2ks

Pevnost 88 109
Mo 97 143
M8 45 359
M10 84 710
M12 840 1230
M14 1330 19,0
M16 1370 3070

M12x40 G10.9 2ks

55R 01-0 491

Approval Number Class[A50-X] ©

[Ex]00000
Type [ ] D-value 0__JkN
Series [ ] Vertdd S kg

czEcH REPUBLIC

QO www.svcgroup.cz -

6 Homologace EHK 55-R

Tainé zafizeni

L e I
¥ Or%e

TOWBARS

sabEiEnY

@ Informace k provozu / homologaci
@ Informdcie na prevadzku / homologdaciu
@ Operating / homologation information @ Montage-instructie

@ Betriebs- / Zulassungsinformationen @ Asennusohjeet

@ Uzemeltetési / homologdcids informaciok @ Drifts- / homologasjonsinformasjon
@ Informations d'exploitation / homologatio @ Informacje dotyczace pracy / homologacji
G Informazioni sull'operazione / omologazio @ WHdopmauma o pabote /omonoraumm

@ Monteringsanvisningar
@ Instrucciones de montaje

SVC GROUP s.r.o. Prumyslovazéna-179 www.svcgroup.cz

Q Q o M QRCod

J

Tel.:-+420 491421021
: +420 491421022
e-mail: sve@svegroup.cz mob.: +420 603360607

6 Coé SVCGROUP®©-05/19

547 01 Nachod-CR
6S6066 6 6 6M CG6C 6 Ré6




Toyota Corolla HB (E21) 01/2019->
Toyota C-HR 10/2016 ->

N-1

Pro podrobné montdazni instrukce a podminky vyrobku si naskenujte QR kéd

1. Odmontujte zadni svétla,néraznik a jeho plechovou vyztuhu.(Nebude jiz zapottebi).

2. Do otvorl v nosnicich vsurite tazné zatizeni a ptichytte 4 srouby M12x40 (10.9.)
Poté tazné zafizeni vyrovnejte a dotahnéte dle utahovacich momentd.

3. Namontujte zpét vSechny dily odmontované v bodé ¢.1.

I nsta I Iation i Nn Stru ctions For detailed installation instructions and product conditions, scan the QR code

1. Remove rear lights, bumper and its sheet stiffener (it is no longer needed).

2. Insert the tow bar into the openings in vehicle beams and fasten it with four M12x40 screws (10.9.)
Then, align all the parts of the tow bar and tighten them to prescribed torques.

3. Reinstall all the parts removed within the step 1.

M (o) nta’iny n aIVOd Pre podrobné montéazne pokyny a podmienky produktu si mozete skenovat QR kéd

1. Demontirajte zadnje luci, odbijac in njegovo plocevinasto ojacitev (le-ta ne bo vec¢ potrebna).
2. Vle¢no kljuko vstavite v luknje v nosilcih in jo pritrdite s 4 vijaki M12x40 (10.9.)

Nato pa poravnajte vle¢no kljuko in jo zategnite glede na zatezne momente.
3. Vse dele, demontirane v tocki $t. 1, montirajte nazaj.

Montagea n Ieitu ng Scannen Sie den QR-Code, um detaillierte Installationsanweisungen und Produktbedingungen zu erhalte

1. Die Hecklichter, Sto3stange und deren Blechverstrebung ausbauen (diese wird nicht mehr benétigt).

2. Indie Offnungen in den Tragern die Zugeinrichtung einsetzen und mit 4 Schrauben M12x40 (10.9) befestigen.
Die Zugeinrichtung anschlieBend ausrichten und mit den entsprechenden Anzugsmomenten festziehen.

3. Alleim Punkt Nr. 1 ausgebauten Teile wieder einbauen.

I n st ru ij amo nta i u Aby uzyskac¢ szczegdtowe instrukcje instalacji i warunki produktu, zeskanuj kod QR

1. Demontujemy tylne lampy, zderzak i jego stalowe wzmocnienie (nie bedzie juz wiecej potrzebne).
2. Do otworéw w belkach wsuwamy urzadzenie holownicze i przymocowujemy je 4 srubami M12x40 (10.9.)

Potem urzadzenie holownicze ustawiamy prosto i dokrecamy z zachowaniem zalecanych momentéw dokrecania.
3. Montujemy ponownie wszystkie cze$ci zdemontowane w punkcie nr 1.

Notice de montage Pour des instructions d'installation détaillées et les conditions du produit, scannez le code QR

1. Déposer les feux arriéres, le pare-chocs et son renfort en téle. (ce dernier ne sera plus nécessaire).

2. Insérer le dispositif d'attelage dans les ouvertures des longerons et fixer a I'aide de 4 vis M12x40 (10.9.)
Aligner le dispositif d’attelage et serrer aux couples préconisés.

3. Reposer toutes les pieces déposer a la section n°1.

Asen nuso hj e Tarkemmat asennusohjeet ja tuotteen ehdot on tarkistettava QR-koodilla

1. Irrota takavalot, puskuri ja sen peltijaykiste. (Sita ei enaa tarvita).

2. Tyonna vetolaite palkeissa oleviin reikiin ja kiinnita 4 ruuvilla M12x40 (10.9.).
Suorista vetolaite ja kirista kiristysmomenttien mukaisesti.

3. Asenna takaisin kaikki kohdassa 1. irrotetut osat.

SVC GROUP s.r.0. Prumyslovazéna-179 www.svegroup.cz  Tel:1420 2‘3}2‘%}835

.ﬂ:‘ 1 )4
ﬂlz,;i 547 01 Nachod-CR e-mail: svc@svcgroup.cz mob.: +420 603360607
QR kédem stdhnete rozsifeny montdzni ndvod / With QR code you can download the extended assembly instructions SVC GROUP ©-05/19




(E21) 01/2019->
10/2016 ->
SCAN ME N-1

e Para obtener instrucciones detalladas de instalacién y condiciones del producto, escanee el c6digo Q

1. Desmonte los focos traseros, parachoques y su refuerzo de chapa (no hara falta mas).
En los orificios en los soportes inserte el equipo de tiro sujetandolo con 4 tornillos M12x40 (10.9).
Después enderece el equipo de tiro y apriete segun los pares de apriete.

3. Monte de vuelta todas las piezas desmontadas segun el punto No. 1.

I st Yruz i on i d i mon ta g g i O pe r I @ Peristruzioni diinstallazione dettagliate e condizioni del prodotto, eseguire la scansione del codic

1. Smontare i fanali posteriori, il paraurti e il suo rinforzo di lamiera (non sara pill necessario).

2. Nei fori nei supporti inserire il dispositivo di traino e fissare con 4 bulloni M12x40 (10.9).
Quindi allineare il dispositivo di traino e serrare con le coppie di serraggio prescritte.

3. Rimontare tutti i componenti smontati nel punto 1.

M o nte ri n g sa nVi s n i n g For installasjonsinstruksjoner og produktbetingelser, skann QR-koden

1. Demontér baklys, stetfanger og dens metallplateforsterkning (den vil ikke lenger trenges).

2. Stikk trekkutstyret inn i hullene i baereelementene og fest ved hjelp av fire skruer av typen M12x40 (10.9.)
Balansér deretter trekkutstyret og stram i samsvar med de foreskrevede tiltrekkingsmomentene.

3. Montér pa plass igjen alle de delene som ble demontert i punkt nr. 1.

M (0] nta g e h an d I e i d i 4] g Scan de QR-code voor installatie-instructies en instructies voor productcondities

1. Verwijder de achterlichten, bumper en de stalen versterkingsdeel (deze is niet langer nodig).

2. Steek de trekhaak in de gaten in de balken en schroef deze met behulp van 4 schroeven M12x40 (10.9.) aan.
Lijn de trekhaak uit en schroef deze overeenkomstig de aanbevolen aanhaalmomenten aan.

3. Plaats alle volgens punt 1 verwijderde onderdelen terug.

Sze re I ési at m utaté A telepitési és a termékfeltételekkel kapcsolatos utasitasokat olvassa be a QR-kodot

1. Tavolitsa el a hatsé [ampakat, a I16kharitot és a fém tartot (erre mar nem lesz sziiksége).
2. Helyezze a hordozdk nyilasaba a vondhorgot és fogassa fel 4 M12x40 csavarral (10.9.)

Most igazitson meg mindent, és hiizza meg a csavarokat a meghuzasi nyomatéknak megfeleléen.
3. Helyezze vissza az 1. 1épésben eltavolitott alkatrészeket.

@ M HCTPYK““ﬂ no MOHTa)Ky Moapo6Hble MHCTPYKLMN MO YCTaHOBKE 1 YCI0BUAM NPOAYKTa OTcKaHupyiite QR-k

CHumuTe 3agHue doHapu, bamnep 1 ero MeTananueckuii ycunutenb (oH 6onblue He noTpebyeTca).
2. BotBepcTuAa B 6ankax BctaBbTe papkon v 3akpenuTe 4 6ontamm M12x40 (10.9.)

BbipoBHaNTe PpapKon 1 3aTAHUTE B COOTBETCTBMM C NPEANUCAaHHBIMU MOMEHTaMU 3aTAXKN.
3. BepHwuTe Ha MecTO BCe YacCTu, IEMOHTUPOBAHHbIE COFMACHO NYHKTY 1.

—_

SVC GROUP s.r.0. Primyslovazéna-179 www.svcgroup.cz  Tel:t420 49142102]

547 01 Néchod-CR e-mail: svc@svcgroup.cz mob.: +420 603360607
QR kddem stdhnete rozsiteny montdzni ndvod / Verwenden Sie den QR-Code, um die erweiterte Montageanleitung herunterzuladen SVC GROUP ©-05/19




A X\ & AN

Montazni navod
Montdzny ndvod
Installation instructions
Installationsanleitung
Instructions d'installation
UHCTpYKLuMA no ycTaHoBKe

Toyota C-HR

SVC GROUP ©-4014

{--.* SVC GROUP s.r.o0. Prumyslovazéna-179 www.svcgroup.cz = Tel:1420 491421021

a = 5 +420 491421022
547 01 Nachod-CR e-mail: svc@svcgroup.cz mob.: +420 603360607

QR kédem stdhnete rozsifeny montdzni ndvod / Met QR-code kunt u de uitgebreide montage-instructies downloaden SVC GROUP ©- 05/19




L XN EXCAN

SVC GROUP ©-4014

SVC GROUP s.r.0. Prumyslovédzéna-179 www.svcgroup.cz

547 01 Nachod-CGR

e-mail: sve@svegroup.cz mob.: +420 603360607
QR kédem stdhnete rozsifeny montdzni ndvod / Met QR-code kunt u de uitgebreide montage-instructies downloaden

SVC GROUP ©- 05/19

Tel.:+420 491421021
+420 491421022



CANEAS. N\

)\ & AN

Toyota Corolla

SVC GROUP ©-4014

E‘\ OV =

SVC GROUP s.r.o. Prumyslovazéna-179 www.svcgroup.cz

+420 491421022

Tel.:+420 491421021
547 01 Néchod.éR e-mail: sve@svegroup.cz mob.: +420 603360607
QR kédem stéhnete rozsifeny montdzni ndvod / Met QR-code kunt u de uitgebreide montage-instructies downloaden

SVC GROUP ©- 05/19



SVC GROUP ©-4014

SVC GROUP s.r.o. Prumyslovazéna-179 www.svcgroup.cz

547 01 Nachod-CR

e-mail: sve@svcgroup.cz mob.: +420 603360607
QR kédem stdhnete rozsifeny montdzni ndvod / Met QR-code kunt u de uitgebreide montage-instructies downloaden SVC GROUP ©- 05/19

Tel.:+420 491421021
+420 491421022



SVC GROUP ©-4014
SVC GROUP s.r.o. Prumyslovazéna-179 www.svcgroup.cz
D) 547 01 Nachod-CR

e-mail: sve@svecgroup.cz mob.: +420 603360607
QR kédem stdhnete rozsifeny montdzni ndvod / Met QR-code kunt u de uitgebreide montage-instructies downloaden

SVC GROUP ©- 05/19

Tel.:+420 491421021
+420 491421022



Q M12x40 x4

?12 x4

Toyota Corolla

+420 491421022

SVC GROUP ©-4014
P Prumyslova zéna - 179 www.svcgroup.cz  Tel:+420 49142102]
oy SVC GROUP s.r.o. LA grovp
N 547 01 Nachod-CR
QR kédem stahnete rozsifeny montdzni ndvod / Met QR-code kunt u de uitgebreide montage-instructies downloaden

e-mail: sve@svcgroup.cz mob.: +420 603360607

SVC GROUP ©- 05/19



2

P @B/ =) =/ aee § B

)\ & Y0V

Toyota Corolla

)\ & VN

Toyota C-HR

SVC GROUP ©-4014

SVC GROUP s.r.0. Prumyslovazéna-179 www.svcgroup.cz
547 01 Nachod-CR

QR kédem stdhnete rozsifeny montdzni ndvod / Met QR-code kunt u de uitgebreide montage-instructies downloaden

Tel.:+420 491421021
+420 491421022

e-mail: sve@svegroup.cz mob.: +420 603360607

SVC GROUP ©- 05/19




Toyota C-HR

SVC GROUP ©-4014

&)

SVC GROUP s.r.o. Prumyslovazéna-179 www.svcgroup.cz
547 01 Nachod-CR

e-mail: sve@svegroup.cz mob.: +420 603360607
QR kédem stdhnete rozsifeny montdzni navod / Met QR-code kunt u de uitgebreide montage-instructies downloaden

SVC GROUP ©- 05/19

Tel.:+420 491421021
+420 491421022




Toyota C-HR

) %\ & YOV

SVCGROUP

Dékuje za diivéru / Dakuje za déveru

) Registrace / Registracia
Thank you for your trust / Danke Fiir dein Vertrauen Registration / Registrierung
Merci pour votre conance / Grazie per la tua ducia Inscription / Registrazione
Tankewol foar jo fertrouwen / Cnacu6o 3a Balwe gosepue Rekisterdinti / Peructpauys

SVC GROUP ©-4014

V 4720N3 - Tel.:+420 491421021
{{ SVC GROUP s.r.o. Primyslovizéna-179 www.svcgroup.cz Te +428 43142]822

547 01 Néchod.éR e-mail: svc@svcgroup.cz mob.: +420 603360607
QR kédem stdhnete rozsifeny montdzni navod / Met QR-code kunt u de uitgebreide montage-instructies downloaden SVC GROUP ©- 05/19




Informace pro odpojovani couvacich senzorli PDC pr o tazné zafizeni
Vypina€ pro vypindni couvacich senzoru PCD je umistnény na palubni desce vozu.

Nemusite tedy pracné na elektro instalaci vozu napojovat odpojovani couvacich senzord PDC a zpétnych kamer od elektro pfipojky taznych zafizeni.
Pokud chcete senzory vypnout, pouZijte vypina¢ na palubni desce.

SVC GROUP ©- 15/2020

o) SVC GROUP s.r.o. Primyslovézina 179 www.svegroup.cz T=1:1430 4514316%)

e-mail: sve@svcgroup.cz mob.: +420 603360607
QR kédem stdhnete rozsifeny montdzni ndvod / QR kédom stiahnete rozsirené montdzny ndvod SVC GROUP ©- 05/19



@ Informace k provozu / homologaci

Vyrobek je vyrab n y dle platnych norem EHK-55 R pro prodej ve stétech EU. Informace pro pouZiti, provoz a zaruky pro tazné za izeni naleznete na naSem webu, www.svcgroup.cz
Technické informace > TaZné za izeni>Vseobecné podminky pouZiti vyrobku. Nebo si je stdhn t e aplikace p es p iloZeny QR-cod

Sou éésti dodaky tazného za izeni je dodan TYPOVY LIST. Tento typovy list slouZi pro zapséni vjrobku do technického pr kazu v ozidla, a obsahuje zakladni podminky pro pouiti vyrobku.
Typovy list slouZi i jako zaru éni lis poto jej uschovejte v dokumentaci vozidla.

@ Informdcie na prevadzku / homologéciu

Vijrobok je vyrabany pod a platnych noriem EHK-55 R pre predaj v $tatoch EU. Informécie pre pouZitie, prevédzku a zruky pre ainé zariadenie ndjdete na nasom webe, www.svcgroup.cz
Technické informdcie> azné zariadenie> Vseobecné podmienky poufZitia vyrobku. Alebo siich stiahnite aplikdcie cez prilozeny QR-cod

Sii éas ou dodavky azného zariadenia je dodany TYPOVY LIST. Tento typovy list sl(iZi pre zapisanie vyrobku do technického preukazu vozidla, a obsahuje zkladné podmienky pouZitia vyrobku.
Typovy list sluZi aj ako zaru éry lis preto ho uschovajte v dokumentdcii vozidla.

@ Operating / homologation information

The product is manufactured according to the applicable EHK-55 R standards for sale in EU countries. Information on the use, operation and warranties for the towbar can be found

on our website, www.svcgroup.com

Technical information>> Towing hitch> General conditions of use. Or download them via QR-cod

The towing device is supplied with a TYPE SHEET. This data sheet is used to enter the product in the vehicle registration document and contains the basic conditions for use of the product.
The data sheet also serves as a warranty press, so keep it in the vehicle documentation.

@ Betriebs /Zulassungsinformationen

Das Produkt wird gemal den geltenden EHK-55 R-Standards fiir den Verkauf in EU-Landern hergestellt. Informationen zu Verwendung, Betrieb und Gewahrleistung der
Anhéngerkupplung finden Sie auf unserer Website www.svcgroup.com

Technische Informationen> Anhéngerkupplung> Allgemeine Nutzungsbedingungen. Oder laden Sie sie per QR-Code herunter

Die Anhéngevorrichtung wird mit einem TYPENBLATT geliefert. Dieses Datenblatt dient zur Eintragung des Produkts in das Kfz-Kennzeichen und enthélt die Grundbedingungen
fiir die Verwendung des Produkts. Das Datenblatt dient auch als Garantiepresse. Bewahren Sie es daher in der Fahrzeugdokumentation auf.

@ Uzemeltetési / homologdcids informaciok

Das Produkt wird gemaB den geltenden EHK-55 R-Standards fiir den Verkauf in EU-Landern hergestellt. Informationen zu Verwendung, Betrieb und Gewahrleistung der
Anhéngerkupplung finden Sie auf unserer Website www.svcgroup.com

Technische Informationen> Anhéngerkupplung> Allgemeine Nutzungshedingungen. Oder laden Sie sie per QR-Code herunter

Die Anhdngevorrichtung wird mit einem TYPENBLATT geliefert. Dieses Datenblatt dient zur Eintragung des Produkts in das Kfz-Kennzeichen und enthalt die Grundbedingungen fiir
die Verwendung des Produkts. Das Datenblatt dient auch als Garantiepresse. Bewahren Sie es daher in der Fahrzeugdokumentation auf.

@ Informations d'exploitation / homologation

Le produit est fabriqué conformément aux normes EHK-55 R applicables pour la vente dans les pays de I'UE. Des informations sur I'utilisation, le fonctionnement et les garanties de
I'attelage sont disponibles sur notre site Weh, www.svcgroup.com.

Informations techniques> Attelage de remorquage> Conditions générales d'utilisation. Ou téléchargez-les via QR-cod

Le dispositif de remorquage est fourni avec une feuille de type. Cette fiche technique est utilisée pour entrer le produit dans le certificat d'immatriculation du véhicule et contient les
conditions de base pour |'utilisation du produit. La fiche technique sert également de presse de garantie, conservez-la dans la documentation du véhicule.

° Informazioni sull'operazione / omologazione

I prodotto & fabbricato secondo le norme EHK-55 R applicabili in vendita nei paesi dell'UE. Informazioni sull'uso, il funzionamento e le garanzie per il gancio di traino sono disponibili
sul nostro sito Web www.svcgroup.com

Informazioni tecniche> Gancio di traino> Condizioni generali d'uso. Oppure scaricali tramite QR-cod

II dispositivo di rimorchio viene fornito con una SCHEDA TIPO. Questa scheda tecnica viene utilizzata per inserire il prodotto nel certificato di immatricolazione del veicolo e contiene
le condizioni di base per I'uso del prodotto. La scheda tecnica funge anche da pressa di garanzia, quindi conservala nella documentazione del veicolo.

SVC GROUP s.r.0. Primysiovazéna-179 www.svegroup.cz  Tel:1430 43142103}
547 01 Nachod-CR e-mail: svc@svcgroup.cz mob.: +420 603360607

QR 06 QR 66 6 Q Qo QR o00C 6 R6C é 6 6 66r € Q C SVC GROUP ©- 05/19




@ Monteringsanvisningar

Het product is vervaardigd volgens de toepasselijke EHK-55 R-normen voor verkoop in EU-landen. Informatie over het gebruik, de werking en de garanties voor de trekhaak vindt u op
onze website, www.svcgroup.com Technische informatie> Trekhaak> Algemene gebruiksvoorwaarden. Of download ze via QR-cod

Het sleepapparaat wordt geleverd met een TYPE BLAD. Dit gegevenshlad wordt gebruikt om het product in het voertuigregistratiedocument in te voeren en bevat de basisvoorwaarden
voor het gebruik van het product. Het gegevenshlad dient ook als garantiepers, dus bewaar het in de voertuigdocumentatie.

@ Instrucciones de montaje

El producto se fabrica de acuerdo con los estdndares EHK-55 R aplicables para la venta en paises de la UE. Puede encontrar informacion sobre el uso, el funcionamiento y las garantias
de la barra de remolque en nuestro sitio web, www.svcgroup.com Informacidn técnica> Enganche de remolque> Condiciones generales de uso. O descérguelos a través de QR-cod

El dispositivo de remolque se suministra con una HOJA DE TIPO. Esta hoja de datos se utiliza para ingresar el producto en el documento de registro del vehiculo y contiene

las condiciones basicas para el uso del producto. La hoja de datos también sirve como una prensa de garantia, por lo tanto, consérvela en la documentacion del vehiculo.

@ Montage-instructie

Tuote on valmistettu EU-maissa myytavien EHK-55 R -standardien mukaisesti. Tietoja vetokoukun kéytosta, kdytostd ja takuista loytyy verkkosivuiltamme www.svcgroup.com
Tekniset tiedot> Vetokoukku> Yleiset kéyttdolosuhteet. Tai lataa ne QR-koodin kautta

Hinauslaite toimitetaan TYYPPI-ARKKI. Téta lomaketta kdytetdan tuotteen sydttamiseen ajoneuvon rekisterdintitodistukseen, ja se sisaltad tuotteen kdyton perusedellytykset.
Tietolomake toimii myds takuupuristimena, joten sdilytd se ajoneuvon dokumenteissa.

I

|zdelek je izdelan po veljavnih standardih EHK-55 R za prodajo v drZavah EU. Informacije o uporabi, delovanju in garancijah za vle éno plo3 é najdete na na3em spletnem mestu www.svcgroup.com
Tehni éni podatki> Vle éna kijuka> Splosni pogoji uporabe. Ali pa jih prenesite preko QR-kod

Vle éna napava je opremljena s TIPNIM LISTOM. Ta podatkovni list se uporablja za vnos izdelka v registracijski dokument vozila in vsebuje osnovne pogoje za uporabo izdelka.

Podatkovni list sluZi tudi kot garancijski tisk, zato ga hranite v dokumentaciji vozila.

@ Drifts- / homologasjonsinformasjon

Produktet er produsert i henhold til gjeldende EHK-55 R standarder for salg i EU-land. Informasjon om bruk, drift og garantier for tilhengerfeste finner du pa var hjemmeside,
WWW.svcgroup.com

Teknisk informasjon> Tilhengerfeste> Generelle bruksbetingelser. Eller last dem ned via QR-koding

Taueanordningen leveres med TYPEBLAD. Dette databladet brukes til & oppgi produktet i kjgretayets registreringshevis og inneholder de grunnleggende betingelsene for bruk av produktet.
Databladet fungerer ogsa som garantipresse, sa hold det i bilens dokumentasjon.

I

Informacje dotyczace pracy / homologaji

Produkt jest wytwarzany zgodnie z obowi dzuj dgmi normami EHK-55 R na sprzeda” w krajach UE. Informacje na temat u”ytkowania, obstugi i gwarancji na hak holowniczy mo”na
znale’1na nasz ej stronie internetowej www.svcgroup.com Informacje techniczne> Zaczep holowniczy> Ogélne warunki u1Gytiwania. Lub pobierz je za pomoc & lodu QR

Urz &dnie holownicze jest dostarczane z ARKUSZEM TYPU. Ta karta danych stuy do wpisania produktu do dokumentu rejestracyjnego pojazdu i zawiera podstawowe warunki
u"ytkowania produktu. Karta danych stu"y réwnie” jako prasa gwarancyjna, dlatego przechowu;j j & w dokumertagji pojazdu.

@ Wndopmauua o pabote /omonorauum

El producto se fabrica de acuerdo con los estandares EHK-55 R aplicables para la venta en paises de la UE. Puede encontrar informacién sobre el uso, el funcionamiento y las garantias
de la barra de remolque en nuestro sitio web, www.svcgroup.com

Informacién técnica> Enganche de remolque> Condiciones generales de uso. O descarguelos a través de QR-cod

El dispositivo de remolque se suministra con una HOJA DE TIPO. Esta hoja de datos se utiliza para ingresar el producto en el documento de registro del vehiculo y contiene las
condiciones basicas para el uso del producto. La hoja de datos también sirve como una prensa de garantia, por lo tanto, consérvela en la documentacién del vehiculo.

SVC GROUP s.r.0. Prumyslovazéna-179 www.svegroup.cz  Tel:}420 ﬁg}jg}g%;

H@ 547 01 Nachod-CR e-mail: sve@svegroup.cz ob.. +420 603360607

QR 06 QR 66 6 Q QoC é o0éQRp ¢é 6 éc &d 6 oCd6écCc o6 66 SVC GROUP ©- 05/19




Homologace - registra ni cer tifikat

Exx -55R-01 x.01
=

EHC R-55
EHK 55-R

Montdzni instrukce - Montazny instrukcia - Installation insrtuktion - Montageanleitung - Istruzioni di montaggio - Instrukcja monta“Tu - Manual de montaje Moneringsvejledning - Paigaldusjuhe nd -

B s "

Asennusohje - Notice de montage - Sz. szerelési itmuutatd - Montagehandleiding - Monteringsanvisning - Insructioni de montaj -Teringsanvisningar - 'w

Volny prostor dle p ilohy VII, sm rnice é. EC 55-R EU musi byt dodrZen.
Volny priestor pod a prilohy VII, sm rice é. EC 55-R EU musi by dodr Zany. @
The clerarance specied in appendix VII, diagram 25 ofguideline EC r-55 EU must be guaranteed.

Der Freiraum nach Anhang VI, Abbildung 25 der Richtlinie ECR-55 EU ist zu gewahrleisten.

cz

(St

@

g Az EC55-R EU irdnyelv VII. mellékletében, a 25. &brdn a vonégdmb elhelyezése szdméra elirt szabad tér-adatokat bizitositani ke | t00max /]

@ La zone de dégagement doitément aannexe VII, illustration 25 de la directive EC 55-R EU. )

0 Deve essere garantito lo spazio libero secondo allegato VII, gura 25 della direttiva EC 55-R EU. i -~ Criy /(« O ‘/ﬂ‘
@ De tussenruimte conform supplement VII, afbeelding 25 van de richtlijn EC 55-R moet in acht worden genomen. A I E S e 25Lﬁ t/”\\

@ Debe garantizarse el espacio libre, conforme al anexo VII, gura 25 de la directiva comunitaria EC 55-R EU. ; 7 E § o f :\ y

@ Vapaa tila on taattava direktiivin EC 55-R EU liitteen VII, kuvan 25 mukaisesti. £ E:,:: pae Vakl H t : :\ SN

@ Spelrummet enligt bilaga VII, Figur 25 i riktlinje EC 55-R EU skall garanteras. e H 5T :k \ > { {V; 3,
@ Friromment etter tillegg VII, gur 25 i direktiv EC 55-R EU skal overholdes. g 2 O : : > %
@ Nale"y zapewni szczelno zgodniez r ysunkiem nr 25 dyrektywy EC 55-R zawartej w zat dczniku niVIl. ;\: N :

@ ‘ap’ka "'p" VIL'T"" "™ EC55-Reu vozowa e

@ Pi celkové p ipustné hmotnosti vozidla @ Pri celkovej p ipustnej hmotnosti vozidla @ At laden weight ofthe vehicle

@ Bei zuldssigem Gesamtgewicht des Fahrzeuges @ Rakomannyal terhelt jarmsuly eseltén @ Pour poids total en charge autorisé du véhicule

0 Per un peso complessivo ammesso del veicolo @ Bij toelaatbaar totaal gewicht van het voertuig @ Con peso total autorizado del vehiculo @ Ajoneuvon suurimmalla sallitulla kokonaispainola
@ Vid fordonets tillltna totlvikt @ Ved kjoretoyets tillatte totalvekt @ W przypadku najwikszej dozwolonej masy cakowitej @ Bc'"ae’ap ye’o'oa’ ‘omo™

N

k&
A
Nosi  + Kola s

@ P> 6

If tl:je vethIe‘s certicate of roadworthiness indicates lower values than those published in the product documentation. These values by the vehicle manufacturer are decisive for the entering into the vehicle's certificate of
roadworthiness.

Falls im KFZ-Brief des Fahrzeugs niedrigere, als in der Dokumentation des Produkts verd entlichte Werte angefiihrt sind, sind diese Werte des Fahrzeugherstellers fiir den Eintrag in den KFZ-Brief des Fahrzeugs maBgebend.

Amennyiben a forgalmi engedélybe jegyzett adatok a gépjérm dokumentacioban feltiint etetett adatoktdl alacsonyabb érték ek lennének , gy a gépjarm gy drtdja altal megadott és a forgalmi engedélybe pontosan bejegyzend
adatokat kel iranyadoként min sit eni.
Si, sur la carte grise du véhicule, vous trouvez des valeurs inférieures a celles publiées dans la documentation du produit, les valeurs du fabricant du véhicule sont déterminantes et devront étre inscrites sur la carte grise du véhicule.

Se nella carta di circolazione del veicolo sono riportati valori inferiori a quelli indicati nella documentazione del prodotto. Questi valori del produttore del veicolo sono decisivi per la registrazione nella carta di circolazione del veicolo.
tl\‘l)se met kentekenbewijs van het voertuig lagere waarden vermeld staan dan gepubliceerd in de productdocumentatie, dan zijn deze waarden van de fabrikant van het voertuig bindend voor inschrijving in het kentekenbewijs van het
Sien Iagc.ha técnica del vehiculo se indican valores menores que los publicados en la documentacion del producto, estos valores facilitados por el fabricante del vehiculo son decisivos para la inscripcidn en la ficha técnica del vehiculo.
Jos ajoneuvon rekisteriotteessa on esitetty alempia arvoja kuin tuotteen dokumentaatiossa esitetyt, ovat ndma ajoneuvon valmistajan antamat arvot ratkaisevia ajoneuvon rekisteriotteeseen merkitsemista varten.

Om det i fordonets registreringsbevis nns angivna ldgre vérden &n de som &r angivna i produktens dokumentation, &r dessa vérden frén fordonets tillverkare riktgivande for det som antecknas i fordonets registreringsbevis.

Dersom det  kjoretayets vognkort er oppyitt lavere verdier enn de somer o entliggjort som produktdokumentasjon, er disse angivelsene fra kjoretaysprodusenten retningsgivende for & noteres ned i kjaretoyets vognkort.

Je"eli w dowodzie rejestracyjnym pojazdu s @ podane varto ci ni”sze od tych, ktére znajduj a si w dokumentacji wyrobu, to te dane producenta samochodu s & miandajne do wpisania ich do dowodu rejestracyjnego pojazdu.

:’y o 110 e v g o o e o wr e e e 100 a1 o s 10 s 7
1 ’
L

0606006000060000

Zay

SVC GROUP s.r.0. Primyslovazéna-179 www.svcgroup.cz  Tel:t420 jg}jg}g%;

547 01 Néchod.éR e-mail: svc@svcgroup.cz mob.: +420 603360607
o QR é F o6écCcCC j 6 06 Cé6 6 6o00C SVC GROUP ©- 05/19




@ Pozor informace k zaruce @ Vegye gyelembe a jotallasi informaciokat Atencion

@ Note the warranty information Q Nota le informazioni sulla garanzia

Uwaga
((eecec

@ Pozor informécie k zaruke @ Notez les informations de garantie @ Huomio

@ Beachten Sie die Garantieinformationen @ Let op de garantie-informatie

L

Vysokov 179
547 01 Néchod, Ceskd Republika +420 603 360 607 +420 491421021

WWW.svVcgroup.cz -
SVC GROUP©-08-2019 Service itver ©entrum



@ Pozor informace k zaruce @ Vegye gyelembe a jotallasi informaciokat Atencion
@ Pozor informacie k zaruke @ Notez les informations de garantie Huomio
@ Note the warranty information G Nota le informazioni sulla garanzia Uwaga
@ Beachten Sie die Garantieinformationen @ Let op de garantie-informatie (C(A(S

max.
manual

%
A GO
a I

Vysokov 179
547 01 Nachod, Ceska Republika +420 603 360 607 +420 491421021

WWW.svcgroup.cz ¢ -
SVC GROUP@-08-2019 Service itver ©€entrum



	Stránky 1
	Stránky 2
	Stránky 3
	Stránky 4
	Stránky 5
	Stránky 6
	Stránky 7
	Stránky 8
	Stránky 9
	Stránky 10
	Stránky 11
	Stránky 12
	Stránky 13
	Stránky 14
	Stránky 15
	Stránky 16
	Stránky 17
	Stránky 18
	Stránky 19
	Stránky 20

